RIEGEEDKERANREH - ERLSVEREHR

SR FR29F FE8BE~TH29F F13:8H(2./20~472)

55ERT ZEA AT 28R TE# 58
TaER K % 4 %8 ZoE | HIE | T1E | H128 | H138
(2/20~2/26) (2/27~3/5) (3/6~3/12) (3/13~3/19) (3/20~3/26) (3/27~4/2)
I 1406] 1272 897 844 660 661
ER Eeazy| 18.50 16.74 11.80 11.11 8.68 8.70
RS™ A JLRBERE | REH 5 6 5 5 3 3
Easyl 0.10 0.13 0.10 0.10 0.06 0.06
IR B8 et RS A |EH 9 13 Ji 11 6 6
a4y 0.19 0.27 0.15 0.23 0.13 0.13
ABSRMMELUY | BER 69 53 6/ 1Y o/ 41
KEWEL |EaAsY| 1.44 1.10 1.40 1.23 1.19 0.85
St i e HEM 119 146 153 147 156 167
EELyY| 248 3.04 3.19 3.06 3.25 3.48
Kis HEM 15 18 13 31 18 24
:JE: EEsy |l 0.31 0.38 0.27 0.65 0.38 0.50
~ |zROm BEH 0 1 0 0 0 0
= E&LyY | 0.00 0.02 0.00 0.00 0.00 0.00
R BB BEH 3 4 1 2 0 2
EE4y| 0.06 0.08 0.02 0.04 0.00 0.04
ERMFHLA HEM 27 14 15 19 17 18
EELY| 0.56 0.29 0.31 0.40 0.35 0.38
HA% 5 0 0 0 0 0 0
E&syY | 0.00 0.00 0.00 0.00 0.00 0.00
LSV E—F | BEHR 1 0 0 0 0 0
EEsy|  0.02 0.00 0.00 0.00 0.00 0.00
FATHE TR | BEX 5 13 2 10 6 ]
a4y 0.10 0.27 0.04 0.21 0.13 0.15
R |RIEHmiEEE | BER 0 0 0 0 0 0
£l E&sy | 0.00 0.00 0.00 0.00 0.00 0.00
£ metAsEs | 85 8 6 3 4 10 14
Ay 0.67 0.50 0.25 0.33 0.83 1.17
ME B % BEH 0 0 1 0 0 0
E&sy | 0.00 0.00 0.14 0.00 0.00 0.00
T M B o BEY 0 0 1 0 0 1
E&sy | 0.00 0.00 0.14 0.00 0.00 0.14
£ |RATTSXmL HER 4 6 3 2 1 |
8 Ayl 057 0.86 043 0.29 0.14 0.14
E|y53oTMs | HEH 0 0 0 0 0 0
#FHLmeERO |[EA%Y| 0.00 0.00 0.00 0.00 0.00 0.00
R S S ]2 1 1 3 6 2 13
mav/LR) | Eazy| 0.14 0.14 043 0.86 0.29 1.86
LTI | BEHR 14 17 18 12 ] 11
(AR | EEsY|  2.00 2.43 2.57 1.71 1.00 1.57
A
AUINIVY E & 16
INERIE S 48
IERES 12
HapE s 7
& Ft 143




REFMENMNERAIRESH - ERHBVREHK
iR Fr29F F13W(3./27~4.2)

£4
EmiEH E M & | o |THEw| RE | RE | me | Rk | mE | & |[PE]Ap|PER
ER easy| 7.94 | 6.00 | 525| 9.65 /1350 | 6.82| 8.70
RSVA VARSI | MEH 0 0 0 2 1 0 3 _ | _ | _
Em%y| 0.00| 000 | 000 | 0.18| 0.10| 0.00 | 0.06
IR B8 fi% L |EH 2 0 0 0 1 3 6 3111 -
Em%y| 018 | 0.00| 000 | 000| 0.10| 043 | 0.13
ABEBRIMEL LY | BER 7 1 3 9 15 6 41 g lal-
HEmEx  |Eszy) 0.64 | 020 0.75] 082 | 1.50 | 0.86 | 0.85
BB BEH 28 13 2 37 66 21 167 20|12 -
emgy| 255 2.60| 050 | 3.36| 6.60| 3.00| 348
i Emsy| 0.09| 040 | 000 | 055 1.00| 0.71 | 0.50
';'r FEO0% HER 0 0 0 0 0 0 off 5|51 -
= Em%y| 0.00 | 0.00| 000 | 0.00| 0.00| 0.00| 0.00
R |fERMEAIBE BEY 0 0 0 0 2 0 2 2111 -
Em%y| 0.00 | 0.00 | 000 | 000 | 0.20 | 0.00| 0.04
ERURLA BEH 4 2 1 3 4 4 18/ | _ | _
Eagy| 0.36 | 040 | 025 | 0.27| 040 | 057 | 0.38
Em%y| 0.00 | 0.00| 000 | 0.00| 0.00| 0.00| 0.00 '
AR F—F wEHK O O O O O O O 6 2 _
Em%y| 0.00 | 0.00| 000 | 0.00| 0.00| 0.00| 0.00
FITHETEX | 8#5% 2 0 0 1 2 2 7 61213
Em%y| 018 | 0.00 | 000 | 009 | 020 029 | 0.15
R |[REHmEREE Y | BER 0 0 0 0 0 0 Ol f 110.1] -
3 Em%y| 0.00 | 0.00| 000 | 0.00| 0.00| 0.00| 0.00 '
T |mitasEs | HER 0 3 4 5 0 2 1411 g | 4| -
Em%y| 0.00 | 3.00| 400 | 1.67| 000 | 1.00| 1.17
A BRS¢ BER 0 0 0 0 0 0 off _ | _ 1| _
Em%y| 0.00 | 0.00| 000 | 0.00| 0.00| 0.00| 0.00
WE BN BEH 0 0 0 1 0 0 1l | _ | _
Em%y| 0.00| 000 000 | 1.00| 000 | 0.00| 0.14
® |NAITSAEK | BER 0 0 1 0 0 0 1 | _ | _
& ER%y| 0.00 | 000 1.00| 000 | 000 | 0.00| 0.14
E 95307 % HBEY 0 0 0 0 0 0 off _ | _ | _
#oLmERO |ERxY| 0.00 | 0.00 | 0.00 | 0.00 | 0.00| 0.00| 0.00
BB B 5 0 2 0 6 0 13/ | _ | _
(asoqLr)  |ERsy| 250 | 0.00 | 2.00 | 0.00 | 6.00 | 0.00 | 1.86
AVINIIH HEH 9 1 1 1 3 0 1 _ | _ | _
(ABR) easy| 250 1.00 1.00| 1.00| 300 000 | 1.57 L
EBEHcSE EHE
ERH UEBHRLAILEBYE
1INIVY T 18 8 8 17 14 11 76] ¥
INRELE S 11 5 4 11 10 7 48
IRRES 3 1 1 3 2 2 12
EHES 2 1 1 1 1 1 7
& & 34 15 14 32 27 21 143
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FRFERAOERRANRER - ERBVERER
EAHXR: Fp29F F13:8(3/27~4./2)

EREA| K R A W | ~558 |~11xB| 1% 2 3 4 5 6 7 8 9 10~14 | 15~19 | 20~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70~79 | 80R%~
Loy |42 TNIH HEH 661 1 5 12 22 22 4] 54 60 43 49 50] 120 17 23 50 31 18 14 11 12
ER E=%Y | 870 | 001 | 0.07 | 0.16 | 0.29 | 0.29 | 0.62 | 0.71 | 0.79 | 057 | 064 | 066 | 1.58 | 0.22 | 0.30 | 0.66 | 0.41 | 0.24 | 0.18 | 0.14 | 0.16
Pt T T " & wH | ~57A |~1z7A| 1% 2 3 4 5 6 7 8 9 10~14 | 15~19 | 20m%~
RSy ILRER A | WEM 3 0 1 1 1 0 0 0 0 0 0 0 0 0 0
E=%Y | 0.06 | 0.00 | 0.02 | 0.02 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
WEEE RS SN HEH 0 0 3 2 1 0 0 0 0 0 0 0 0 0
E=%Y | 0.13 | 0.00 | 0.00 | 0.06 | 0.04 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
ABGEmPELLY | BER 4 0 0 3 4 2 10 4 5 0 5 1 3 2
Bk IREE 2% E=%Y | 0.85 | 0.00 | 0.00 | 0.06 | 0.08 | 0.04 | 0.21 | 0.08 | 0.10 | 0.00 | 0.10 | 0.02 | 0.06 | 0.04 | 0.04
BT HR HEH 167 2 8 19 23 25 22 10 10 16 1 5 9 1 10
=%y | 348 | 004 | 017 | 040 | 048 | 052 | 046 | 0.21 | 0.21 | 0.33 | 0.15 | 0.10 | 0.19 | 0.02 | 0.21
i i 24 0 0 3 2 5 4 5 0 1 1 0
N E=%Y | 0.50 | 0.00 | 0.00 | 0.00 | 0.06 | 0.04 | 0.06 | 0.10 | 0.08 | 0.10 | 0.00 | 0.02 | 0.02 | 0.00 | 0.00
2 |srom HER 0 0 o o o o o o o 0o o 0o o 0
= E=%Y | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
R |{miATBE WEH 0 1 0 0 0 0 1 0 0 0 0 0
E=%Y | 0.04 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
RRMHLA HEH 18 0 8 8 1 1 0 0 0 0 0 0 0 0 0
E=%Y | 038 | 000 | 0.17 | 017 | 0.02 | 0.02 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
= i 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E=%Y | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
AbSuFE—+ | BEH 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E=%Y | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
RARETES | BER 0 0 0 0 0 1 2 0 1 0 2 0 1 0
E=%Y | 0.15 ] 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.02 | 0.04 | 0.00 | 0.02 | 0.00 | 0.04 | 0.00 | 0.02 | 0.00
% SAER T " & s | ~548 |~115B| 18 2 3 4 5 6 7 8 9 10~14 | 15~19 | 20~29 | 30~39 | 40~49 | 50~59 | 60~69 | 70&%~
g |BrEH MR BER 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
® E=%Y | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 000 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
E FATHARES | BEN 14 0 1 0 1 0 0 0 0 0 0 0 0 1 3 2 3 2 1
E=%Y | 1.17 ] 0.00 | 0.00 | 0.08 | 0.00 | 0.08 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.08 | 0.25 | 017 ] 0.25 | 0.17 | 0.08
R = R %A oy (o) 1~4 | 5~9 | 10~14 | 15~19 | 20~24 | 25~29 | 30~34 | 35~39 | 40~44 | 45~49 | 50~54 | 55~59 | 60~64 | 65~69 | 70m%~
RE R HEH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
E=%Y | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
EETERAE R HEH 1 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0
E=%Y | 0.14 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.14 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
g [RATTIAEH_BEH 1 0 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
& E=%Y | 0.14 | 0.00 | 0.14 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
E ISITTM% HEH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
GoomeErRO | E=%Y | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
BB BR HEH 13 1 8 3 1 0 0 0 0 0 0 0 0 0 0 0 0
(aso4LR) | ExzY | 186 | 0.14 | 1.14 | 043 | 0.14 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00
AVTNIVH HEH 11 0 1 5 1 0 0 0 0 0 0 0 0 0 0 2 2
(ABD)| Em%y | 157 | 0.00 | 0.14 | 0.71 | 0.14 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.00 | 0.29 | 0.29




